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���  ���������  ��  ��  
��
�� . 
 

:	 ��5
������	 ��
��
�����	 >���=����	 ���
	 ���6	 ���	 �
 �	 ������	
��5
�����	 �����	 ����	 �<����	 ��<��	 �<
�	 �����	 ���6
� �	 ��	 �������	
��� ��	 �����
��
	 	 6	 ���	 
����
��
�	 t���	 ��	 �����
�� 	 �������������	
5���	 ���	 ��
	<��
<	 ���7	 ����	 �	C�	 �������������	5�� �	 ���	 ��
	 �����	
����	 ���6	 �	 ��
���	 ��5����	 1%(V	 ���	 �����
���O���	 � ���
��<	 ��5����	
�������������6S�	D�	 �����
��	 ����	 ����	 ������	O ��� ��S�	 i	 ��
���	 �
��	
�������	 �������5��	 ���������	 �����	 ���	 ��
��!�	 ���� ���5��	 5���	 ���	
��5
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 5.%3�6�03+�3  
&14�.4(%  

ALZHEIMER'S +1�17638�  MCI 

$��������	  ,�# . 1���� . ,�# . 1���� . ,�# . 1���� . ,�# . 1���� . 
n 21 21 28 28 23 23 17 17 
age 

62.5 
±11.27 

(42-80) 66.00 
± 3.18 

(47-82) 54.53 
±13.88 

(25-
74) 

 
65.76 
± 8.67 
 

(49-
82) 

Mean 3,23 3,06 2,62 2,48 2,20 2,33 2,93 2,75 

St. Dev. ±0,73 ±0,67 ±0,65 ±0,65 ±0,55 ±0,65 ±1,00 ±1,05 

Range 1,78-
4,39 

1,83-
4,22 

1,35-
3,88 

1,10-
3,46 

1,53-
3,76 

1,39-
3,25 

1,54-
4,77 

1,41-
4,53 

p-value  
(1� .-,�# .) 

0,0003 0,0009 0,031 0,02 

p-value (��  
!����� . 
����	 ) 

  0,0004 0,0002 0,0001 0,0007 0,145 0,16 

'���
	  
��������	  
����������  
��  ���  
5������ - 
������  

  73,3% 44,4% 65% 

 
��
�	��  1. %���������  �������  ���  ��������  ���  ����������)�  
�
������  ��  ���  
5������������  In Vivo. 
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